METHODOLOGICAL PROBLEMS OF PRODUCTIVITY MEASUREMENT IN THE CONSTRUCTION INDUSTRY 2
— RELATIONS OF PRODUCTIVITY MEASUREMENT RESULTS WHICH USED SOME STATISTICS DATA —
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ABSTRACT: It may be felt realistically that productivity in construction sites are going up by utilization of industrialization
parts and mechanization. However, that does not show in the statistics analysis of construction industry as a whole.  In this
research, we examined the reason why the productivity of such a micro level and macro level is different. For the reason,
needless to say there is a restriction of such statistics data. In addition there is the problem of the industrial structure. And

furthermore, the problem of construction production system is relevant to this in detail.
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